EVENT: Red VS Blue

9 HOLERS

A 4 5 819 O 0 4 5 8 ota
1 Neiman 2|/0|3(1[3[3]3]|2]|0] 17 T-1st $6.00
2 Allen 112)1)2|2[2(3]|2]|2] 17 T-1st $6.00
3 Tyler 2|2|1(1[2]|2]|1]0]|2] 13 T-3rd $3.00
4 Donovan 2(ofo|3]|o|4f[0|3]|1] 13 T-3rd $3.00
5 McFadden 2|2|1(1[1[3]0]0)|0] 10
6 Ledbetter 0|j0f1]|1[1]2[0]|]0|2] 7

18 HOLERS

A 4 6 8 19 |0 0 4 G 3 ota
1 Ball 0/2|2|1(2[{2[{1]|3|3]16]13[3]|3|0|3[2[3[0]2] 19 35 A Flight 1st $7.00
2 Choinka 3/2|2|0(1(3]2]|3]|2]18]3]|0]|2|3|1[0[2[1]3] 15 33 A Flight 2nd $6.00
3 Bevolo 2|3|2(1(2[1]0]2]|1]14]2]|2]|2]|2|2[1[{0[2]1] 14 28 | AFlight T-3rd  $4.00
4 Woelbling 2(1]10(2]2(3|2(1|1}14]|1|12(0|2(5|2(0|2|0] 14 28 A Flight T-3rd $4.00
5 Bone 0|1]2[0(3[1[1]2]|1]11]2]|3]|0]|2|2[1[2[3]|1] 16 27
6 Edwards 112|1)0|2|1[2[2|1)12|of1[1]2]2]|2|1[2[2] 13 25
7 Buckley 3/10({2|1(3]|3[0]2[2] 16 |x|x]|x|x|x|x]|x|x]|x] x W/D
1 Phillips 1(4(1]3]3]|3|3[4(2] 24]12]|]2|0(3({1[0]0]3]2] 13 37 B Flight T-1st $7.50
2 McGuire 3|12(1]|3(3|2[2]2[1]19]|2[2]|2[3]|3|[3|0]|2|1] 18 37 B Flight T-1st $7.50
3 Starnes 3/3[3|1[2]0[2])2[2]) 18]2[0|3[2]2[4]|1|1]1] 16 34 B Flight 3rd $5.00
4 Griswold 0|4|2(1(4|2]|4]2|1] 20J4|0]|0|3|1|2[0[1]1] 12 32 B Flight 4rd $4.00
5 Gale 111]12]0|3|3[0]|1[1)12])1|2]|2|2]|2(3]|]2([2]|3] 19 31
6 Nielsen 1(2{0]0]3|3|1[2[2]14]2]|0]2[3[2[1]2]3]|1] 16 30
7 Schaffert 0l4(2|1[2]|2[2]1[{0] 14]2[2]|2[1]2]|1]2]|0|1] 13 27
8 Newman 2(3[1[1]0]2]|0|2|0] 11]JO|O|1[1[2][3]|0]|0]|2] 9 20







